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QUSTION ONE: 4x2

Choose the correct for each of the following questions: “

1. The Sales Discount account is presented in the:

a) Income statement as an addition to sales.

b) Balance sheet as deduction from capital account.
c) Income statement as a deduction from sales. //
d) Balance sheet as deduction from capital account.

2. If the double declining rate is 50%. What is the depreciation rate for the straight-

line method?

a) 20%
b) 50%
c) 45%
d) 25% //

3. Gross profit=

a) Net sales — Cost of goods sold I
b) Net purchase + Cost of goods sold
c) Cost of goods sold + Net Sales

d) Net Sales — Net Purchase

4. If a cost price of an equipment is BD2,600, carriage in is BD 200, installation is
BDI120 and and salvage value BD400 at the end of useful life is 5 years,

Calculate the Acquisition Cost:

a) BD2,800
b) BD3320
¢) BD2,920 //
d) BD3200
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6x2

QUESTION TWO:
Awal company purchased a machine on 1* January 2015. Relevant information is
given below:
Cost price BD10,000
Tax BD500
Salvage value BD2000
Useful life 4 years
Required:

A) Calculate the depreciation expense using the straight-line method using the

depreciation scheduls, (3]

Acquisition Cost =

100 0 + 5%@— Bl !! !00 //

Calculation Depreciation | Accumulated | Net Book
Q Expense Depreciation Value
(10500-2000)x25% Wallliive.
TSy o
2o X2<7 4105004 20"6"’; D) 2,1}/5::3) 2, 1%1-9' N
— e, > O Szt
2016 10500-2000Ge i) 5 pert)  goe 6250 |
4 /l @
_ 0,5\ > 0, > 3.
2017 10300 200058y 5105 373 S
[ ) =) < N~
2018 e 2““"(‘;';1.? 2,125 —1 8,50 2000
Note: % mark out of 2 marKks for each column of every year.
B) Prepare the journal entry for the second year.
General Journal
Date Details Debit Credit
2016 | Depreciation Expense — 2,125
B} preciatio E: p @QZE) ;2
2,125
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2 )

Accumv&d’ﬁgeciation - /
= ¥ T Machine
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QUESTION THREE:

(Chluaall 2ag3) 1 jbaall 2121as

The fi ] x
¢ oll‘%wermtmwd from the books of Khalifa trading: rm 1 ]
. ;
Sales counts 9121) Accounts BD 10
00 | Transportation In 180
Sal 1P
Frefi:slifgum 600 | Beginning Inventory 1,600
= g = ut 250 | Advertising Expense 700
Pa €S Discount 300 | Ending Inventory 4,000
ur c}}ases 20,000 | Rent Expense 800
' | Salaries Expense 320 | Carriage Out 500
Required:

From the balances above, calculate the following: (show your calculations)
1- Net sales:

[ 9500 — (600+300) = BD8600 J
/ / / /
2- Total Operating Expense:
{ 250 +320 +700 +800 + 500 = BD2570 J
/ /! / / /
QUESTION FOUR:
Complete the following partial of income statement for Faisal Company as at 31
December 2016:
Faisal Company /
Partial Income Statement
For the period ended 31 December 2016 /
Cost of goods sold:
Opening inventory /12,600
Gross Purchase 8,000
Less: Purchase discount 600
Net Purchase / / 7,400
Add: Expense on Purchase
Import tax 300
Cost of purchase / /17,700
Cost of goods available for sale 10,300
Less: Ending inventory 3,200
Cost of goods sold / /7,100

*End of Exam Questions*
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